Math 3








Name: ________________________

Mod 0 Day 2







Date: ______________ Period: ____

Math 2 Review (Factoring & Complete the Square)
Show all your work and reasoning.  Use a pencil!!
	1.  FACTOR each polynomial.
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	2. Multiply
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3. Factor
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 (factor twice)
4. Write the polynomial in vertex form by completing the square. Then identify the vertex.
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5. Solve for x using the indicated method.
	a) 
[image: image28.wmf]7

10

2

-

+

=

x

x

y


(complete the square)
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(complete the square)
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(Quadratic Formula)
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(Quadratic Formula)
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(Quadratic Formula)
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(Factoring)
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